REVIEW F

Find the value of each of the following:

Iz
2.
3.
4

(a) (b) (c)
749 + 60 590 + 198 375 + 466
301 — 98 213 — 175 432 — 355

5x?2 3 X8 6 x 10
35 +5 24 =+ 4 9+ 3

The total weight of a mango and a pineapple is 950 g.
The mango weighs 380 g.
What is the weight of the pineapple?

Taylor made 300 pastries for sale.
There were 12 pastries left after the sale.
How many pastries did he sell?

Max packed 20 kg of rice equally into 2 bags.
How many kilograms of rice were there in each bag?

Lindsey and her family drink 10 liters of milk a week.
How many liters of milk do they drink in 5 weeks!?

Mr. Ward sold 495 exercise books on Monday.

He sold 98 fewer exercise books on Tuesday than

on Monday.

(a) How many exercise books did he sell on Tuesday?
(b) How many exercise books did he sell on both days?

88



